. ,ﬂ? ‘LCE'QS -4 1/2" |——46" MAX. D.L.O. WIDTH, TYP.——| OF EACH VERTICAL
CORNERS
, a0 Q)0 10 Q0L O
J1_<> H1 | | <~
5, @TYP.
e
INSTALLATION <A <> %
FASTENER
LOCATION, X S - p
TYP., SEE X X 5
TABLE C, :
SHEET 2 __ 7V I
%e TYP R &
§|— : @
Lo o |y
=< E} M
§g 21 rvp. L
o 2
sk e K
< < ¥og
N N X
%
< > j
~
/I
. wTYP.
T 35— TYP.
]'—<> \ \ <>
T T
v saene |0 0%, D0 01 00@T @0 01000 00
AT SILL ._.I_ 1/2" ._—I_4 172" TYP. SPACING AT
CORNERS on 5 SILL, EACH SIDE

~—48" MAX. ON CENTER, TYP.—

2" TYP. SPACING AT

~—+4 1/2" HEAD, EACH SIDE

GENERAL NOTES:
1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH THE REQUIREMENTS OF THE 2006 INTERNATIONAL BUILDING CODE AND 2006 INTERNATIONAL

RESIDENTIAL CODE, WITH TEXAS REVISIONS EFFECTIVE JAN. 1, 2008.

EXTERIOR ELEVATION A

OF EACH VERTICAL

WITH P1437 STEEL REINFORCEMENT

2. THIS PRODUCT IS NON—IMPACT RESISTANT AND REQUIRES THE USE OF SHUTTERS IN WINDBORNE DEBRIS REGIONS.
3. THIS PRODUCT MAY BE INSTALLED IN INFINITE WIDTHS PROVIDED THE MAXIMUM VERTICAL ON—CENTER AND DLO WIDTHS ARE NOT EXCEEDED.
4. THE DESIGN PRESSURE RATINGS OF THIS PRODUCT AS DETAILED IN TABLES A AND B, SHEET 2, ARE AS LIMITED BY ASTM E—1300 02/04 GLASS TABLES, WATER PERFORMANCE,
TESTED PRESSURES, AND COMPARATIVE ANALYSIS.
5. SEALING AND FLASHING STRATEGIES FOR OVERALL WATER PERFORMANCE OF INSTALLED PRODUCTS SHALL BE IN ACCORDANCE WITH MANUFACTURER'S PUBLISHED INSTRUCTIONS

AND ARE THE RESPONSIBILITY OF OTHERS.

6. THE 4/3 ALLOWABLE STRESS INCREASE HAS NOT BEEN USED IN THE ANCHOR ANALYSIS FOR THIS SYSTEM.
SUBSTRATE ONLY.
7. STRUCTURAL SUITABILITY OF THE OPENING TO RECEIVE LOADS IMPARTED FROM THIS PRODUCT TO BE VERIFIED BY THE DESIGN PROFESSIONAL FOR EACH PROJECT. BUCKING,
OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.
8. DISSIMILAR MATERIALS THAT COME INTO CONTACT, INCLUDING BUT NOT LIMITED TO FASTENERS IN PRESSURE TREATED WOOD, SHALL BE COATED OR OTHERWSE PROTECTED TO
PREVENT GALVANIC REACTIONS.

9.

TYP. SPACING AT

SPA(;IIF:;' 2" |——48" MAX. ON CENTER, TYP——| ~———4 1/2" HEAD, EACH SIDE
AT HEAD —4 1/2" ‘<—46" MAX. D.L.O. WIDTH, TYP.——| OF EACH VERTICAL
CORNERS
‘ 0 )0,10(0) OISO O
%L HT TYP | | z
\3 N3/ :
. <
o
T X X X SR
3¢ x O
=" YA : g
RS A B
H—O > ' i
Y & S
2y TYP. | ¢
Er 5 =
3 T =
(I ; 3
. WTYP' s1V's2Y's3 =
T n
| BN A3/ Q
< | TYP. | <>
e [0Q Q00 Q@000 O
S:TA%INLE 14 1/2" ——4 1/2" TYP. SPACING AT
CORNERS 2" 2 SILL, EACH SIDE

NO REINFORCEMENT,

EXTERIOR ELEVATION B

REDUCED SILL ANCHORS

NOTE: CIRCLED ANCHOR LOCATIONS (SEE @
SYMBOL) SHOWN IN ELEVATIONS A AND B ARE

REQUIRED ONLY WHEN USING 1/4” INSTALLATION
ANCHORS, SEE TABLE C, SHEET 2.
ANCHOR LOCATIONS (SEE <> SYMBOL) ARE REQUIRED

FOR ALL FASTENER TYPES.

THIS PRODUCT HAS BEEN TESTED TO ASTM E 283, ASTM E 330, ASTM E 331, AND AAMA 501.1

THE 1.6 Cd FACTOR WAS USED IN THE ANALYSIS OF WOOD

INSTALLATIONS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS UNLESS OTHERWISE APPROVED BY A LICENSED DESIGN PROFESSIONAL.
10. FOR INTERNAL JOINERY DETAILS NOT SHOWN IN THESE DRAWINGS, SEE MANUFACTURER’'S PUBLISHED INSTALLATION INSTRUCTIONS.

NON—CIRCLED

OF EACH VERTICAL

................................

&)
-

TUBELITE
SERIES E14000

STOREFRONT SYSTEM

WALKER, MICHIGAN 49544

PH: 800.866.2227
FX: 616.301.0008

CGURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

LEADERS IN ECO-EFFICIENT STOREFRONT,

§
y
z
8
['4
&
2
z
=
E—lf
-ﬁ
L]
:

REVISION HISTORY:

DESCRIPTION
ORIGINAL REIFASE |

LT

0 [7.716

Lucas Turner
2017-02-16
16:00+19:00

ZZ

9/29/2016

LUCAS A. TURNER, P.E.
TX PE # 115094
1239 JABARA AVE.

NORTH PORT, FL 34288

PH. 941-380-1574

REV| DATE |DRAWN

DA 7.7.16

DRAWNG NUMBER:
TDI-E14000-NI

DRAWN:
FINAL REVIEW:

SCALE N.T.S.

[REVISION: 0
SHEET NAME:

NOTES
ELEVATION

SHEET:

1 OF 5




SUBSTRATE BY

——DIST., SEE

MIN. EDGE

TABLE C

=
[T
S v
OTHERS, SEE \ AN MIN. EMBEDMENT, e
TABLE C %\/\\\ AN SE; A;AB;':,MC 53 ,U_)
\ SEE TABLE C Ll W=
7 wn ®)
/7 PUE
o
\ wite /] L &
8% /] NS
SEALANT e z.._’cT:' /1 —
BY lo 3o Zar n
OTHERS _ zu 2 . INSTALLATION
- / ANCHOR, SEE
- '-"ﬁ / = TABLE C o z
17 1.G. 14* FULLY Zm INSTALLATION ANCHOR, // E2 5
, 4 " SEE TABLE C 8z ap
Yi” FuLLY TEMPERED = &3 SUBSTRATE E§§§§
TEMPERED 1=~ GLASS NS TYPICAL HEAD ANCHORAGE BY OTHERS, Bsgs
ALASS A -5 SEE TABLE C 3§§:§5
©
S B2z:0
> i i A INSTALLATION ANCHOR, 2 o SEALANT BY OTHERS °
SEE TABLE C T L]
11 §§ g;_., TYPICAL JAMB ANCHORAGE 1—1 EE
(1)
35 B -
GLAZING DETAIL SEA'-ASI( rn § =5 I I‘
OTHERS = | 32
ANCHORAGE NOTES: I 3
\ Q 1. SHIMS SHALL BE LOAD-BEARING (PLASTIC OR H
METALLIC) AND CAPABLE OF TRANSFERRING =; 5
APPLIED LOADS FROM THE PRODUCTS TO THE [{—1
OPENING SUBSTRATES.
\ 2. SHIM EACH ANCHOR LOCATION WHERE GAP
GREATER THAN 1/16" EXISTS BETWEEN PRODUCT
S e o AN\ FRAME AND OPENING SUBSTRATE. FEVSEN HSTOR:
TABLE © MIN. EDGE 3. SPECIFIED EMBEDMENT TO BASE MATERIAL
DIST., SEE SHALL BE BEYOND WALL FINISH OR STUCCO. < Z
TABLE C 4. MINIMUM ANCHOR SPACING SHALL BE 4 1/2” “QQE‘OF\TZ‘\“ =
TYPICAL SILL ANCHORAGE ;"% V“ """"""" *4‘; ; §
;* .". * % * " 8 5
7 x :. o X / -
/ -------------------------------- l
TABLE C. QUALIFIED ANCHOR INFORMATION 4...E}.JQIL.\.S...'?‘.'...T.L.J.B.'.\'.'.EB...5 Z
ID [SUBSTRATE ANCHOR MIN. MIN. EDGE HEAD SILL ANCHOR SILL ANCHOR MAX. h o- 115094 o 7 =H
EMBEDMENT | DISTANCE | ANCHOR QTY QTY. PER VERT. QTY. PER VERT. (P LICENSED. AN =
PER VERT. | 8 HEIGHT AND BELOW | ABOVE 8 HEIGHT | SHIM GAP { \“ Ssjo X ‘:;’ o
A |CONCRETE OR GROUT-FILLED CMU (2850 PSI MIN) 1/4" ELCO COATED CARBON STEEL ULTRACON 13/4" 21/2" 4 4 6 1/4" \\ \O\N\A\‘-\s - SN
B |CONCRETE OR GROUT-FILLED CMU (2000 PSI MIN) 1/4" ITW COATED CARBON STEEL TAPCON 112" 3" 4 4 6 1/4" >
C |CONCRETE (3000 PSI MIN) 1/4" ITW 410 STANLESS TAPCON 13/4" 21/2" 4 4 6 1/4" 29
D |[CONCRETE (3000 PSI MIN) 1/4" HILTI COATED CARBON STEEL OR STAINLESS STEEL KWIK-CON i 1" 21/2" 4 4 6 1/4" |DA:TE: 7.716
E |HOLLOW OR GROUT-FILLED CMU (ASTM C-90) 1/4" HILTI COATED CARBON STEEL OR STAINLESS STEEL KWIK-CON i 1" 21/2" 4 4 6 1/4" DRAWNG NUMBER:
F_|2x MIN. SOUTHERN PINE WOOD (G=0.55 MIN) #14 GRADE 5 WOOD SCREW 138" 1 4 4 6 174" TDI-E14000-NI
G [16 GAUGE (0.060") MIN. STEEL STUD 33 KSIYIELD MIN.  |#1/4-28 ITW TEKS SELF-DRILLING SCREW SEE NOTE 172" 4 4 6 1/4"
H [1/8" ALUM. 6063-T5 MIN. OR 1/8" STEEL 33 KSI MIN. #14 GRADE 5 SELF-TAPPING / DRILLING SCREW SEE NOTE 172" 4 4 6 1/4" P FINAL REVEW:
| |[CONCRETE OR GROUT-FILLED CMU (3000 PSI MIN) 3/8" POWERS TAPPER CARBON STEEL 112" 41/2" 2 2 4 172" SCALE. NTS
J |CONCRETE OR GROUT-FILLED CMU (3000 PSI MIN) 3/8" ITW RED HEAD LDT CARBON OR STAINLESS STEEL 1172 3" 2 2 4 12" 9/29/2016 REVISO —
K |CONCRETE (4000 PSI MIN) 3/8" TW RED HEAD TRUBOLT WEDGE CARBON OR STAINLESS STEEL 112" 25/8" 2 2 4 172" 0
L |2x MIN. SOUTHERN PINE WOOD (G=0.55 MIN) 3/8" GRADE 5 LAG SCREW 13/4" 1" 2 2 4 172" LUCAS A. TURNER, P.E. SHEET NAME:
M [16 GAUGE (0.060") MIN. STEEL STUD 33 KSIYIELD MIN.  |5/16-18 ELCO DRIL-FLEX OR HILTI KWIK-FLEX SELF-DRILLING SCREW SEE NOTE 5/8" 2 2 4 172" TX PE # 115094 INSTALLATION
N |1/8" ALUM. 6063-T5 MIN. OR 1/8" STEEL 33 KSI MIN. 3/8" GRADE 5 SHEET METAL SCREW SEE NOTE 304" 2 2 4 172" 1239 JABARA AVE. DETAILS, TABLES
NORTH PORT, FL 34288
NOTE: ANCHORS THROUGH METAL SHALL BE OF SUFFICIENT LENGTH TO PROVIDE THREAD ENGAGEMENT THROUGH THE FULL METAL THICKNESS PH. 941-380—-1574 [FE% ) OF 5




AT ANCHOR LOCATIONS

BETWEEN ANCHOR
LOCATIONS

2 PLCS

@ @O

ALT. SCREW SPLINE
ASSEMBLY, TYP. 2 PLCS

AT ANCHOR
LOCATIONS

ALT. SCREW
SPLINE ASSEMBLY,
TYP. 2 PLCS

1o

CONTINUOUS
SILICONE SEAL

ROR
—(10)won.

AT ANCHOR LOCATIONS

BETWEEN ANCHOR
LOCATIONS

&

2 PLCS

3 PLCS

-
ogETe

ALT. SCREW
2 )SPLINE ASSEMBLY,
TYP. 2 PLCS

HEAD
OPTION 2

INTERMED. VERTICAL
OPTION 1

ALT. SCREW SPLINE
ASSEMBLY, TYP. 2 PLCS

MOD. 2 PLCS
i @ 3
Eﬁf@j CONTINUOUS

| SILICONE SEAL
/

|
_J

UU@@

INTERMED. VERTICAL

OPTION 2

®

ofc

—
]
—

(2
()

ALT. SCREW
SPLINE ASSEMBLY,
TYP. 2 PLCS

2 PLCS

10 )MOD.

3 PLCS

INTERMED. VERTICAL

OPTION 3

(AVAILABLE UP TO 96”
FRAME HEIGHT ONLY)

ALT. SCREW

22 ) SPLINE ASSEMBLY,

TYP. 2 PLCS

D/ ®
CONTINUOUS

SILICONE SEAL

21 )2 PLCS

TUBELITE
SERIES E14000
STOREFRONT SYSTEM

WALKER, MICHIGAN 49544

PH: 800.866.2227
FX: 616.301.0008

LEADERS IN ECO-EFFICIENT STOREFRONT,

CGURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

TUBELITE............

REVISION HISTORY:

DESCRIPTION
ORIGINAL REIFASE |

< \
EREQETENN |5
) 4@ l’ o
7. KA I (215
7 LUCAS A. TURNE 2 =
" on 115094 7o 7 |ED
WO lleensDi & | 7.7.16
N B DRAWNG NUWBER:
WCONALE = TDI-E14000—NI
A
FINAL REVIEW:
ZZ SCALE: N T S
9/29/2016 — : O
LUCAS A. TURNER, P.E. SHEET NAVE:
TX PE # 115094 SECTION
1239 JABARA AVE. DETAILS

NORTH PORT, FL 34288
PH. 941-380-1574

SHEET: 3 OF 5




FOR ELEVATION A, SHEET 1,

ALLOWABLE DESIGN PRESSURES (PSF)

FOR ELEVATION B, SHEET 1,

ALLOWABLE DESIGN PRESSURES (PSF)

REINFORCED WITH P1437 STEEL

NON-REINFORCED

MAXIMUM | MAXIMUM | ALLOWABLE MAXIMUM | MAXIMUM | ALLOWABLE
MULLION LOAD DESIGN MULLION LOAD DESIGN
HEIGHT WIDTH PRESSURES HEIGHT WIDTH PRESSURES
(IN.) (IN.) (+/ - PSF) (IN.) (IN.) (+/ - PSF)
27 30.0 27 30.0
30 30.0 30 30.0
33 30.0 33 30.0
36 30.0 36 28.9
144 39 30.0 168 39 26.7
42 30.0 42 24.8
45 30.0 45 23.1
48 30.0 48 21.7
27 30.0 27 30.0
30 30.0 30 30.0
33 30.0 33 28.4
36 30.0 36 26.0
150 39 30.0 174 39 24.0
42 30.0 42 22.3
45 30.0 45 20.8
48 29.8 48 19.5
27 30.0 27 30.0
30 30.0 30 28.2
33 30.0 33 25.7
36 30.0 36 23.5
156 39 30.0 180 39 21.7
42 30.0 42 20.2
45 28.9 45 18.8
48 27.1 48 17.6
27 30.0
30 30.0
33 30.0
36 30.0
162 39 29.8
42 27.7
45 25.8
48 24.2

MAXIMUM | MAXIMUM | ALLOWABLE MAXIMUM | MAXIMUM | ALLOWABLE
UNIT LOAD DESIGN UNIT LOAD DESIGN
HEIGHT WIDTH PRESSURES HEIGHT WIDTH PRESSURES
(IN.) (IN.) (+/ - PSF) (IN.) (IN.) (+/ - PSF)

27 30.0 27 30.0
30 30.0 30 27.5
33 30.0 33 25.0
36 30.0 36 22.9
% 39 30.0 132 39 21.2
42 30.0 42 19.7
45 30.0 45 18.3
48 30.0 48 17.2
27 30.0
30 30.0
33 30.0
36 30.0
114 39 30.0
42 28.3
45 26.4
48 24.7
27 30.0
30 30.0
33 30.0
36 29.7
120 39 27.5
42 25.5
45 23.8
48 22.3
27 30.0
30 30.0
33 28.8
36 26.4
126 39 24.3
42 22.6
45 21.1
48 19.8
NOTE:

THE EXPANSION JOINT DETAIL V3/3 IS ONLY AVAILABLE UP TO 96" MAX. FRAME HEIGHT

TUBELITE
SERIES E14000
STOREFRONT SYSTEM

WALKER, MICHIGAN 49544

PH: 800.866.2227
FX: 616.301.0008

VDABLE

LEADERS IN ECO-EFFICIENT STOREFRONT,

CGURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

TUBELITE............

REVISION HISTORY:

DESCRIPTION
ORIGINAL REIFASE |

/o' ?% 46’ )
Ve . '
Vd * : * I
/x . “x 9
/ ................................ /
/ LUCAS A. TURNER 7 (£
,'...........................:..../ él:
. 115094 ,.-"3_,/ &
% g Pl
WO LOENSRATT
WOSONALES SR
ASCR L g =
EO
DATE: 77,16
DRAWING NUMBER:
TDI-E14000—NI
Z [FINAC REVEW: |
- E  NT.S
9/29/2016 IREVISION: : O
LUCAS A. TURNER, P.E. SHEET NAME:
TX PE # 115094 DESIGN
1239 JABARA AVE. PRESSURE
TABLES

NORTH PORT, FL 34288
PH. 941-380-1574

SHEET: 4_ OF 5




PARTS LIST

ITEM PART NUMBER | DESCRIPTION MATERIAL
1 P1745 EXTRUSION ~ FLAT CLOSURE ALUMINUM—-6063—T5
2 P4543 EXTRUSION ~ FLAT CLOSURE ALUMINUM—-6063—T5
3 E14141 EXTRUSION ~ HEAD/JAMB/VERT./SILL ALUMINUM—-6063—T5
4 P1133 EXTRUSION ~ SHEAR BLOCK ALUMINUM—6063—T5
5 P2728 GLAZING GASKET P—PART RUBBER
6 E14103 EXTRUSION ~ HEAD/HORIZ./SILL ALUMINUM—-6063—T5
7 E14104 EXTRUSION ~ GLAZING BEAD ALUMINUM—-B6063—T5
2] E14140 EXTRUSION ~ HEAD/SILL ALUMINUM—-6063—T5
10 P1134 EXTRUSION ~ SHEAR BLOCK ALUMINUM—-6063—T5
1" P1132 SETTING BLOCK P—PART RUBBER
12 E14445 EXTRUSION ~ POCKET FILLER ALUMINUM—-6063—T5
15 E14106 EXTRUSION ~ FEMALE EXPANSION VERTICAL ALUMINUM—-6063—T5
16 E14107 EXTRUSION ~ MALE EXPANSION VERTICAL ALUMINUM—-6063—T5
17 E14059 EXTRUSION ~ SILL FLASHING ALUMINUM—-6063—T5
18 P1437 STEEL REINFORCEMENT 1008CQ HOT ROLLED
19 S009 SCREW ~ #10 X 1-3/4” PAN HD PHIL P—PART—FASTENER
20 S149 SCREW ~ #12 X 3/4" FLAT HD PHIL P—PART—FASTENER
21 S191 SCREW ~ #10 X 1/2" TRUSS HD PHIL P—PART—FASTENER
22 S202 SCREW ~ #10—24 X 1” SELF—TAPPING HEX HD PHIL P—PART—FASTENER
=© 4J/ ”
3 2 ”
;T <_‘|J/2 —
5] +
174 7] : N
732 f N R AS——— R
T
ITEM 5 3 }
P2728 —
e ITEM 6 — E14103 ITEM 7 — E14104
HEAD /HORIZ. /SILL GLAZING BEAD
1290 e 29/
%2 %2
<—>—19 ” -1 - 1
| 752
* o &Q’ N
AN < P
)

ITEM 12 — E14445
POCKET FILLER

ITEM 15 — E14106
FEM. EXP. VERT.

ITEM 16 — E14107
MALE EXP. VERT.

|

“‘—5/16" —’“‘—‘71 6
X T

:(O =(O
=~ =
™ ™
L v L v
ITEM 1 — P1745 ITEM 2 — P4543
FLAT CLOSURE FLAT CLOSURE
i 4J/2n |
~N
ITEM 9 — E14140
HEAD /SILL
NS
;WEEP ‘l_

| 434"

ITEM 17 — E14059
SILL FLASHING

4J/2 »

d e

ITEM 3 — E14141
HEAD /JAMB,/VERT. /SILL

‘<—31 Yo' ———

o

-1 9/16"——|

ITEM 10 — P1134
SHEAR BLOCK

<.1J/8”.>|

st

ITEM 18 — P1437
STEEL REINFORCEMENT

35/32" 1
=% U U
N
ITEM 4 — P1133
SHEAR BLOCK

ITEM 11 — P1132
SETTING BLOCK

&)
-
(=
o
>
w
>
—
c
=y
=
m
sol
\

................................

TUBELITE
SERIES E14000

STOREFRONT SYSTEM

WALKER, MICHIGAN 49544

PH: 800.866.2227
FX: 616.301.0008

LEADERS IN ECO-EFFICIENT STOREFRONT,

CGURTAINWALL AND ENTRANCE SYSTEMS WEB SITE: WWW.TUBELITEINC.COM

TUBELITE............

REVISION HISTORY:

DESCRIPTION
ORIGINAL REIFASE |

LT

0 [7.716

=2

9/29/2016

LUCAS A. TURNER, P.E.
TX PE # 115094
1239 JABARA AVE.

NORTH PORT, FL 34288

PH. 941-380-1574

REV| DATE |DRAWN

PATE:  7.7.16
DRAWNG NUMBER:

TDI-E14000-NI

FINAL REVIEW:

SCALE N.T.S.

[REVISION: 0
SHEET NAME:

BILL OF MAT.
PART DRAWINGS

SHEET: 5 OF 5




		2017-02-16T16:00:31-0500
	Lucas Turner
	I am approving this document




